ALEKO

Aluminum and Steel Hardtop
Gazebo with Mosquito Net and
Curtain - 10 x 12 Feet - Black

Installation Manual

Model: GZMC10X12



ALEKO

Parts List

u@® T®
@mm 6 )imp

Q@

4®

/zw
" 1]

Item | Description - Qy
) Screw and Nut M6X47 20
U Screw M6X35 w |
T Screw M6X25 | B |
v Screw M6X15 152 |
Q Screw M5X10 12
X Screw M6X15(D17X32) 8
Y | ScrewsT4sx12 | = |
Z3 | Allen Key [ % |
Z4 | Wrench 5 |
Z2 Screwdriver | 1 \

b




AA”NNN&L&&NN&NN%Q




Joint Cover Plate
Comer Cover

Net

Curtains




ognnnnnuue




)







u
0 D




Vm@

@

¥

Py










E®@ KI® Ve




@
v

=
=
=







K®
/ # M2@D M@ u® v

g . 0 i @)ﬁ










QK

]

\\\

e
—1/E | |
4 ®
o .q.. N oy
L . *

\\N\W,,H e ¢

MM
™

£ -

Q@

™
1
Q.
)
o
(/o)







W

500

BRI, XTI
\\000000’00600000’0’00‘ ,QDQDQQOAW LA RS

v- .l."w“““‘

bv,’“ﬂﬂ’“v”’"*‘.“." .0
DRICB
B b

-

e

*
*,
()

* 00000

*. 9094
S
.’0"”"‘9’

+
#.
5

®,

2

L)

KR IAIH AR

EROBNKSY
CSONRY
() +*

* 9 6.000
LX)
&

R
.
)
*
&

)
*.
.
7
*,

5

)

[/ S 4000000000 009
i -v L) 0\0’4000000”0 0.'0

()

PP 59O
R YR S S SIS0
(5O STIRCOSSNS
v.:'fvooooo
0
o

L)
&
L)
L/
*
L)
*
L)

<,

0%

o

+
*

()
RS

()
S

s
&
&
)
&
&
s
S
&
s

-

L)
*
*
*
*
.&
)
L)
L)
¢

L R R R KD
PRI
X O 00,000 000

% L)

L)
L/

L)
*
*

LA M)
.0.0.0 0‘
0‘4 %

*

&,

+
L)

’.
+,
5
&

& &
5
(LK )
‘.‘:
0RNKS
LK )
LAC L)
K55S
LI )
LA )
L )
(A D
X )
$ & 5 &
LD
X5

L)

*
L/
+,

*

*
e
&

o R\
PO B A
St ll =2t




s e s a"a st t
e
R R RREH X

. e i A AR R, at
DR R K SRR IITIIRILN
’.uuo,oo [XRRAIAEALILRRK SRS

PR I A AR R
AR R AT R
T 0 0 e 0000 e 0000 e e e e e T e
Q...”Q’.“Q"’."....
2020005010 0700202020205
X BARNENS




NOTICE

Your proper assembly, installation and use of this structure will ensure many years of valued service from this unit.
Please follow all instructions carefully and heed warnings on the carton, included in the box and sewn into the
inner tent seams for your own protection and longevity of this unit.

It is built of high quality materials but must be used as intended or it’s lifespan will be drastically reduced. Never
climb on top of this structure. Do not rest heavy objects against the side of the structure, Failure to observe or
comply with these instructions will void the manufacturer’s warranty and dramatically reduce the lifespan of the
unit.

This unit is not intended as a permanent structure and should not be left up for extended periods of time. It is not
designed to withstand sustained winds or rain. It is a portable, temporary shelter from the sun, light rain and, in
the case of screened units, flying insects.

During rain, if water begins to pool on any roof surfaces, use a blunt ended long pole, such as broom or mop, to
gently push up on the roof from below to drain water.

Please utilize a minimum of three persons and a step ladder to erect this structure safely. Do not attempt to erect
the structure during heavy winds or inclement weather. When the structure is erected, please use guy ropes and
stakes to secure tightly at all times. If using on a solid surface such as hard ground or concrete/asphalt, be sure to
use cinder blocks as anchors on each corner to which you can tie the support/guy ropes. If winds are heavier, it's a
good idea to use cinder blocks in addition to ground stakes for extra anchoring support.

WARNING

Do not use candles, matches or open flames of any kind in or near a tent.
Do not cook inside a tent

Build campfires downwind and several metres away from a tent and be sure to fully extinguish campfires before
leaving a campsite or before retiring for the night

Exercise extreme caution when using fuel-powdered lanterns on heaters inside a tent and use battery-operated
and use battery-operated lanterns whenever possible

Do not refuel lamps, heaters or stoves inside a tent
Extinguish or turn off all lanterns before going to sleep
Do not smoke in a tent

Do not store flammable liquids inside a tent



ALEKO

8307 S 192nd St Kent, WA 98032
Phone: 833-926-2323
hello@aleko.com
www.ALEKO.com



